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II Year Science Examination, 2016

COMPUTER SCIENCE
Paper—1
(Data Structure Using ©)
Time : Three Hours
Maximum Marks : 50
PART - A (@US-31) [Marks : 10
Answer all questions (50 words each).
All questions carry equal marks.
it ueA sfrar ¥ | T e S ST T e 9 st T &)

Taft 5ol % 3 TEE €

PART - B (@Us-9) [Marks : 25
Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.
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PART - C (@Us-¥H) [Marks : 15
Answer any fwo questions (500 words each).
All questions carry equal marks.
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PART - A
(@ve-37)
UNIT - 1
(3=1E-1)
Convert to postfix and prefix this infix expression
A+B*(C-D).
¥ SRS e 9 drefeag i Wit & ford |
A+B*(C-D)
Give application of array.
W Tty A
UNIT - I
(3=TE-1 )
What is a Header Node 2
&= s 7 B 22

Write two applications of Linked List,

%ﬁgﬁeﬁﬁmml
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UNIT - I
(3wTE-111)
(v) Define Complete Binary Tree.
ereite el 21 0 e fefera
(vi) Define Skewed Tree.
wias A = gt fafaa)
UNIT - IV
(zFE-1V)
(vii) What is degrec of graph ?
o = ferlt = Bt §2
( viii ) What is a Pendant Vertex ?
T SEad 1 Bl ©7
UNIT -V
(3HE-V)
(ix) What is necessary condition of Binary Search.
Sz g9 it sl ServH fafean
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(x) Give names of divide & conquer techniques.

feare 3k F= aaiter & T SRy
PART - B
(@ve-7)
UNIT - I
(3=TE-1)

2. Explain implementation of stack & its operations using an

array with an example.

OR ( 319m@r)
3. Explain insertion operations on circulér queue with algorithm
and example.
TR o # S SR U seEne ¥ wng TR |
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UNIT - 11

(3=13-11)
4 Explain with algorithm and example : Reversing a Linked List
Searching in Linked list.
FTNRYT 3R I ¥ Tiy TRY : foss foe =) figd
(Fee) e, feiers foree 3 forelt e
OR ( twar)
S- Expalin all operations on Circular linked list with algorithm.
T feias foree % Tt st & s fufig )
UNIT - 11
Cwwd-n)
6. Explain insertion and searching operations in Binary Search
Tree with algorithm.
T T A & gl ok i siretvin s &
TR |
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OR ( 39ar)

7. If the pre-Order traversal of a binary tree is 7, 1, 0.3.2,5.4,
6,9,8,10and In -Order traversal is 0,1,2,3,4,5,6,7,8,9,10 find
the Post-Order traversal.
sz Fopt e 9 M-St ZEHe € 98 7, 1,0, 3,2, 5, 4,
6.9, 8, 10 31K T T - ST THA & TE 0,1,2,3,4,5,6,7,8.9,10
@ ;9 - 3T ;aﬁﬁ Fqad |

UNIT - IV

(F=HE-1IV)

8. Explain Graph Representation techniques with an example.
o7 Wrierg e i SR % W FhaRh |

OR ( 37ar)

9. Explain all pairs shortest path algorhtm (Floyd's) with an

example.
s YoR TR WY SFAEREH (FAASH) ] TH ISR &F

Yy gaAERel|
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UNIT -V
(3=13-V)

10. Explain with an €xample insertion sort Algorithm.
99T | Wﬁﬁwﬁ@maw%muml
OR ( 31erar)
11. Explain Merge Sort algorithm with an example.
TS e AFNReT T w ey & WY gHzEy
PART - C
(Tues-w)
UNIT - 1
(3=1E-1)
12. Write short notes on -
(@) Array & Multi - Dimension Array
(b) Application of Stack
=1 w2 dfara F fefag .
(3) R T 7t - s N
(F) =t S =r TAIHe
. UNIT-@n
(3=13-10)

13. Write short notes on Dynamic Memroy Allocation.

ﬁmmﬁfmﬁ%@q : STEHS 4594 weiidherT
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14.

15.

16.

UNIT - III

(g@T$-10)
Define with an example : Binary tree, Leaf node, Path, Cycle,
BST and Full Binary Tree.
fr=y = oftam fafag :amﬁﬂ,mﬁg,mu,msﬁa
BST, Hel e i |

UNIT - IV

(FFE-1IV)
Explain graph traversal techniques with algorithms and
example.
T ZadE aeRIe ST TS ISR & 91 FHAEY

UNIT -V

(FHE-V)
Explain with example and algorithm : Se;quential (Linear) and
Binary searching.
sreifie TE IEERO ¥ WY TAGRY : Yt (FATR)
e S ||
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